// Data mode : Standard

// Transmission speed : 100Hz
// Acceleration sensor’s range : 2g

// Gyroscope sensor'’s range : 250dps
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//ARTIFACT NUM DATE

1 2016/03/28 00:28:20.580

2 2016/03/28 00:28:20.590

3 2016/03/28 00:28:20.600

4 2016/03/28 00:28:20.610

5 2016/03/28 00:28:20.620

6 2016/03/28 00:28:20.630

7 2016/03/28 00:28:20.640

8 2016/03/28 00:28:20.650

9 2016/03/28 00:28:20.660
10  2016/03/28 00:28:20.670
11 2016/03/28 00:28:20.680
12 2016/03/28 00:28:20.690
13 2016/03/28 00:28:20.700
14 2016/03/28 00:28:20.710
15 2016/03/28 00:28:20.720
16 2016/03/28 00:28:20.730
17 2016/03/28 00:28:20.740
18  2016/03/28 00:28:20.750
19 2016/03/28 00:28:20.760
20 2016/03/28 00:28:20.770
21 2016/03/28 00:28:20.780
22 2016/03/28 00:28:20.790
23 2016/03/28 00:28:20.800
24 2016/03/28 00:28:20.810
25 2016/03/28 00:28:20.820
26 2016/03/28 00:28:20.830
27 2016/03/28 00:28:20.840
28 2016/03/28 00:28:20.850
29 2016/03/28 00:28:20.860
30 2016/03/28 00:28:20.870
31 2016/03/28 00:28:20.880
32 2016/03/28 00:28:20.890
33 2016/03/28 00:28:20.900
34 2016/03/28 00:28:20.910
35 2016/03/28 00:28:20.920
36 2016/03/28 00:28:20.930
37 2016/03/28 00:28:20.940
38 2016/03/28 00:28:20.950
39 2016/03/28 00:28:20.960
40 2016/03/28 00:28:20.970
41 2016/03/28 00:28:20.980
42  2016/03/28 00:28:20.990
43 2016/03/28 00:28:21.000
44  2016/03/28 00:28:21.010
45 2016/03/28 00:28:21.020
46  2016/03/28 00:28:21.030
47  2016/03/28 00:28:21.040
48  2016/03/28 00:28:21.050
49  2016/03/28 00:28:21.060
50 2016/03/28 00:28:21.070
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